‘This is the Code behind the program

‘Note that the simulation Form is declared as a Class (on the first ‘executable row) while all other Objects (e.g. BUTTON, TEXT BOXES etc) ‘are controlled with a Sub routing as shown below

‘Start of program by declaring the Form as a class
Public Class Form1

‘This Sub controls the first SOLVE Button (Mathematical Model …)
    Private Sub Button1_Click(ByVal sender As System.Object, ByVal e As System.EventArgs) Handles Button1.Click

‘Check the value of Ixz in Row4 col6 is not equal to Ixz in Row6 Col4
        If (Ixz.Text <> Ixz2.Text) Then

            Ixz.BackColor = Color.Red

            Ixz2.BackColor = Color.Red

            Ixz.Text = "?"

            Ixz2.Text = "?"

            MsgBox("Invalid input: The two variables represents the same value (Ixz)" & vbCrLf & "Therefore, the two values must be equal")

        End If

‘The next statement traps any error that may occour in the calculation

        On Error Resume Next

        Fx.Text = mu.Text * u.Text

        Fy.Text = mv.Text * v.Text

        Fz.Text = mw.Text * w.Text

        Mx.Text = (Ix.Text * p.Text) + (Ixz.Text * r.Text)

        Myi.Text = Iy.Text * q.Text

        Mz.Text = (Ixz.Text * p.Text) + (Iz.Text * r.Text)

‘The following statement displays the result of Simulation
        Answer.Text = "mu = " & mu.Text & ", mv = " & mv.Text & ", mw = " & mw.Text & ", Ix = " & Ix.Text & ", Ixz = " & Ixz.Text & ", Iy = " & Iy.Text & ", Iz = " & Iz.Text & vbCrLf & "u = " & u.Text & ", v = " & v.Text & ", w = " & w.Text & ", p = " & p.Text & ", q = " & q.Text & ", r = " & r.Text

    End Sub

‘This Sub Routine controls the 2nd SOLVE Button (Non Linear control…)
    Private Sub Button2_Click(ByVal sender As System.Object, ByVal e As System.EventArgs) Handles Button2.Click

‘This makes sure that the value of t is between 1 and 7
        If Val(t.Text) < 1 Or Val(t.Text) > 7 Then

            MsgBox(" Value of t is between 1 and 7 (inclusive)")

            t.BackColor = Color.Red

            t.Text = "0"

        End If

‘This traps any error that may occur in the Calculation
        On Error Resume Next

        Vf.Text = Format(((Val(wi.Text) * Val(xi.Text) * Val(t.Text) ^ 3) / 3), "#.####")

        A.Text = Format(((Val(wi.Text) * Val(xi.Text) * Val(t.Text) ^ 3) / 3), "#.####")

        Ve.Text = Format(((Val(wi.Text) * Val(xi.Text) * Val(t.Text) ^ 3) / 3), "#.####")

    End Sub

‘This signifies the End of the program
End Class

